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V)

T 4397 :
EAfeTied 92971 &1 SIqd 9igq 3R 37T T B :

(1)

(i)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

57 Fv7-T7 § 37 ¥ & | @4 I97 HfAard & |

J97-97 T: TSI § [G9II57 8- @US &, &, T, ¥, TG I |

GUE & — o7 &7 1 8 20 FglaHcHid JHR & J97 & | Ie4% 97 1 3% #1 & |
GUE & — 97 &1 21 T 24 317 T30 JHR & J97 8 | FI% J97 2 37H] BT
g | 37 ¥o] &7 3T 40 V53] G 37 757 7@ ST T |

TUE T — Y97 G&IT 25 G 29 TY-IF0T JHR & Y97 & | Fed% Jo7 8 37 &7 & |
57 Y71 %7 3T 60 el & 3% &1 for@r Sir =ifzy |

U g — 97 G 30 & 33 FH-3tIT YHR & Y97 & | Yedb Yo 5 bl BT 8 |
57 Y991 %7 3T 120 ied] & 37ferk 787 forar ST =ifay |

GUE & — Y97 G&I7 34 T 36 HT-3MIRA/FIa-eRa F97 & 577 &7 39-397 & |
Jed% 974 37 FT 8 |

GUE T J¥7 G&IT 37 HIFIT HIvT-3ERT I97 & 1o & 917 & — 87 (a) 3/dz1@
(2 37%) 37K 37(b) - YT (3 37%) | 39 J97 & FA5 37 & |

§G% AR, & § 1% Fiesiad gl & 7e wlel aor HrHl=" 3l Srema

] @ T T T I T 1597 T & | §7 ) & I daer gheantaa wiandT &
7@ |

QU &
(Fgfamedta we) (20x1=20)
= 3 e few T E | 3 sfihe (A) 3R BRW (R) € | QA1 el B dfeu
3R TE faehed 1 =39 HIRT | 1

STYHUT (A) : S HS HIGRI Sl el o o [T IR & 8d ¢ |
HRU(R)  : TS AN o IE ROTUR T &l 2 |

ey

(A)  (A) 3R (R) g1 T 8 3 (R), (A) T T&l = 2 |

B) (A) 3 (R) 31 & &, AfhT (R), (A) H T ==mea 787 2 |
(C) (A W& 7, AT (R) Terd 8 |

(D) (A) Td 3, Afr (R) 98 2 |
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) : Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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2. OYH Ug o™ wesed (FeA.Erdl.) fefafed ® @ fhE omaR | 9ma
T Tt gemtfsrg stat & 2
(A) Tafmio, seEmEaT R e
(B) fram, Tareen 3R ufd =aft o
(C) TS 3™, Weed 3 Sifeht
(D) o BT 3G, SEfiEhl 3R Ta=R

3. fr=fafga 9 9 w-a1 o Sodioor & TR 1 gl I Hidl & ?
(A) YR W H gaeh) A0l I gSHT
(B) 3= Siad TR il e HET

(C) <0 < sit= dig i & Tehishiol ST
(D) foesft suf=i =t Twiva @ & e o= seq e

4. = Fem e mu ¥ | 3 A (A) W HRO (R) B | HT AT I Ufew
IR Tt fashew 1 =RF i |

STYHYT (A) : WRA H b3 W ARk HMAA AR T T H IERAN i TR
T} L Tkl B |

PRU(R)  : WA H 93 I T TLHR ITThd et 3 |

ey ;

(A) (A 3R (R) gHT T8 g 3T (R), (A) hH1 T&l AT 2 |

B) (A) 3 (R) g1 T& &, Al (R), (A) T Tl = 757 2 |
(C) (A) @& 8, dfhd (R) Toid # |

(D) (A) Teid B, AAfh (R) T8l B |

5. U o gey ¥ faefafga uifeafa o ufew it o1 & gwrrcas ay@ 6
qg<T shIfoTU |
el 3T o ToTT hRiRfie ISl shl F&d ol 0T o gRI qU hidl & | 0T 39
ICAIGA o HRIRA Gl qT 316 ol THI T YU i H GG hidl 3 |
qH g @
(A)  HcilH 9 R0 1 HR ¢ A |
(B) He™ i TS 5§ AT |
(C) 3IUIed | HHt A |

(D) El™ 1 % §5ash H HH T @ |
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2. On which of the following basis does the United Nations Development

Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A) Manufacturing, Infrastructure and Health

(B)  Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation

3. Which one of the following statements best describes the meaning of
‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies

4, Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment

made in rupees.
Reason (R) : In India the rupee is authorized by the State
Governments.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

5. Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The
credit helps him to meet the ongoing expenses and complete production
on time.

Impacts:

(A)  The burden of credit will increase on Salim.
(B) Salim’s income will increase.

(C)  The production will decrease.

(D)  Salim may get stuck in a debt trap.
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6. rhdd hl FHfaRad femiwarstt 1 ufeu 3T 48l farcy o1 =—A hifSu |
I. %9ad wd g gHe
II. ST % 99 FaHd

1. Ffh <hl TR
IV. T&ehi <hT T
ooy

(A) Haa LII19 [T B |
(B) e IL, II1 & IVES & |
(C) whaa L II9 IVES 2 |
(D) had [ 119 IVHS B |

7. T=faRea o @ fho &3 ° afgemst &1 1ot Tsdfts w9gl (2018) § wfafferca
g 31ferek o ?

(A) Hifdsh am
(B) it (38 9 efaof)
(C) [
(D) WRmE
8. fa=fefga <ol & @ fored feeelia sween 2 2
A == (B) iRt
(C) HIH T (D) %

9. A @ e faw mu & | ¥ SAfickem (A) K RO (R) § | g1 el W ufen
3R T faehed 1 =3F HIRT |

STHYT (A) : Y Alhad TSHITTD Gl o [oHT Tal el Hehdl 3 |
HRU(R) : Taitad S @ soH-31qq fa=m-adi o Jia Sarece
g, 91 % Jid TEl |

farehey

(A) (A T8 7, dfT (R) TeAd 2 |

(B) (A) Teid B, A (R) &1 2 |

(C) (A) 3R (R) gHI @&l § 3R (R), (A) N Tl == B |

D) (A) 3R (R) g1 T B, AfhT (R), (A) T T = 787 2 |
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6. Read the following characteristics of democracy and choose the correct
option. 1
I. Free and fair elections
I1. Equality before law
III. Dignity of a person
IV. Majority rule
Options:

(A) Only ]I, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only]I, IT and IV are correct.

7. In which of the following regions was women representation the highest
in their respective National Parliaments (2018) ? 1
(A)  Nordic countries
(B)  America (North and South)

(C)  Europe
(D) Asia
8. Which one of the following countries has a two-party system ? 1
(A) China (B) Pakistan
(C)  United States of America (D) France
9. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : Modern democracy cannot function without political
parties.
Reason (R) : Elected representatives will be accountable only to their
constituencies, not towards the country.
Options:

(A)  (A)1is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation
of (A).

(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
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10. 1992 H WA # Higy™ gsned wieh ffalaa § 9 forg geen d afganeti

ot 3mmeror <Y syaen it T8 2
(A) Q% |
(B) ST &l
(€) faum uftwe
(D) 9=Ea
11. YR dfoue ¥ aftlq Tren’ ffafea 5 9 fpa g o stdia ot g ?
(A) == g
B) T G
(C) EHadl H=i
(D) 9l &= fowy

12. T1 % d¢dR & 98T | 2T MU qehl bl 4fQU 3 T&! faehcd v =39 IS |
I.  9YTd Shl GUEAT hl HH HLT 8 |
II.  Tof o9 i Jfsham i s1aeg &Lt ¢ |
III.  fafaeamet o gmee wenfuq s»ar 2 |
IV. o1 @ i urfierl sl Sra & |
fererew :
(A)  Had 119 IITE 7 |
(B) Shadt II, 19 IVER § |
(C) ad L IIIT IVEE & |
(D) Haad LI IVHE 7 |

13. YRd ® WS o Icqreq 4 fforfaa ot o erw (wfaerd ®#) o forw siferesaw
¥ =IIq9 Y a1t Tgl faehed T =34 hIT |
(A) UET I, HEWISE, heiiceh, SAifesm
(B) W Yo, HEWISg, HI(Su, hriiesh
(C) HENISE, HEA TG¥l, e, HITSum
(D) WERISg, SIS, HE TGN, Hriesh
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10.

11.

12.

13.

In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C) Legislative Council
(D) Panchayat

‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1

(A)  Union List

(B)  State List

(C)  Concurrent List
(D) Residuary Subjects

Read the arguments given in the favour of power sharing and choose the

correct option. 1
I. Reduces the likelihood of bias.
I1. Barricades the decision-making process.

III. Accommodates diversities.

IV. Increases the participation of people in power.
Options:

(A)  Only ]I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only I, III and IV are correct.

(D)  Onlyl, II and IV are correct.

Choose the correct option for the following States’ share (in percentage) in

the production of ‘manganese’ in India from the highest to the lowest
order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha

(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka

(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha

(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka
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14. 9 11 o™ W9 118 hIfSU 3T T8 foshey &1 999 i |

a1 &y 11

(a747) (731
i HER §e a. Hags
i.  BUPS b. M
iii. YTEST 9T c. dHa
iv. TS |TR d. wEHd
forerea :

(A)  i-a, ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C)  i-c, ii-d, iii-b, iv-a

(D) i-c,ii-d, iii-a, iv-b

15. 9 & wod for U E | A AU (A) 3T HW (R) & | A1 AT o giey
I TE forehew 1 ==m it |

SuEeT (A) : Teared | gfeg Fueh! AQam g &3 H o hers Uk H

hHITT &7 |

HRU(R)  : 39 gNI TAHM WGl ohl SfGAl 1 SAN Hleh HHGTR
FRLT AT h Hhel ST T |

f&refeu
(A)  (A) 3 (R) IAT & &, wfhT (R), (A) 1 T =t 787 2 |
(B) (A) 3 (R) F1 &&l & 3N (R), (A) H Tl === 2 |

(C) (A) @&l g, Afehd (R) TeTd 7 |

(D) (A) T4 8, Wl (R) T&l 8 |
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14. Match Column I with Column II and choose the correct option. 1
Column I Column II
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

iii. Bhakra Nangal Narmada

o

iv.  Nagarjuna Sagar d. Mahanadi
Options:

(A)  i-a, ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C) i, ii-d, iii-b, iv-a

(D)  i-c,ii-d, iii-a, iv-b

15. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with

indigenous species was made enormously successful.

Options:

(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

32/4/3-14 Page 11 of 27 P.T.O.




16. Tfafea o3 =1 sem fifSe | g 4 89 aren w0 srdeyewen &
frafafiga o 9 forg &5 & 37arq 31T 2 2

(A)  wTafies
(B) fgdas
(C) qdreh
(D) =gdeh

Fig: [[Efciad Jo7 #ac gheanea qhenideal & g Jv7 G897 16 & T R
g/

frfaRaa & @ form & &I eTogRl YRa o dha =9 Ig (SH.ELdl.) o
wdiferes g ?

(A)  STfhes
(B) gt
(C) qdreh
(D) <qd®
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16. Study the following picture. The work done in the picture comes under

which one of the following sectors of the economy ?

(A)
(B)
()
(D)

Note : The following question is for the Visually Impaired Candidates only,

Primary
Secondary
Tertiary
Quaternary

in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross

Domestic Product (GDP) of India ?

(A)
(B)
(®)

(D)
32/4/3-14

Primary
Secondary
Tertiary

Quaternary
Page 13 of 27
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17. frfafed & @ forem wa1 7 - “ggun Svar it & g€ Heraw ], 999 ¥
qrgwr |7 2

(A) IR W
(B)  WgTeHT TRt
(C) SIgH A
(D) gl ot

18.  SE & Wi Tt Uil % eIl § Heifed el fashey 1 = hifer |
(A) gYN I 99 9 ST 48%
(B) TR HUAT T AR TR
(C) HIL.IR. @ d AT T8&
(D) HECH e 9 TER 9o

19. Tk TIW 1 qid o 7T @&l foeped &1 =@ HifT |
T ant (fies ®<¢) @ 9Ra 9 gfao-gd ufiten 3R o g A
H uged 9 |
(A)  EH 9 EIE % AT
(B) IS I FE
(C) W 4 g™
(D) & 9 3 9rgqd

20. frafafga serell # FespuaR =afem Hifu R Td fases &1 ===
I |

I. %IE <hl Shifd

II. S9fcrd 1 3ecil W gad

III. 3l SR UehIehlUl

Iv. fozan wfa @fa

fererey .

(A) 1,11, 1V, III (B) IL1IV,I III
(C) ILII,I, IV (D) I,IIL II, IV
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17.

18.

19.

20.

Who among the following said — “Printing is the ultimate gift of God and

the greatest one.” ? 1
(A) Martin Luther

(B) Mahatma Gandhi

(C) Johannes Gutenberg

(D) Rashsundari Devi

Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru

(B) Acharya Kripalani and Jayaprakash Narayan

(C)  C.R. Das and Motilal Nehru

(D) Mahatma Gandhi and Sardar Patel

Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A) Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals

Arrange the following incidents in chronological order and choose the

correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy
IV. Vienna Peace Treaty

Options:
(A LIIL1IV,III (B) II,IV, 1 III
(C) ILILLIV (D) L IILII IV
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21.

22.

23.

24.

25.

26.

27.

28.

29.

QUE @
(stfa Trg-SaT w9e) (4x2=8)
(a) WRA <l HuTcH® Faeel H Hiqgw i et 1 wleaw 3 fagati °
T | 2x1=2
aterdn
(b) WA ! HeTcH AT H Hallod <A oh! {HehT I &0 q fogadi
# i | 2x1=2
“URa H 999 1T 3cd1ed hl HEH 9N 8 |7 YT Holl ok Ted H HAd <kl
ST HITT | 2
“Seieel 9t 9 AT § T AR @ T F FHST AT |7 39 HAA I vyl
it | 2

1991 H Aveehul & fiU YR hl TTHR R 331U U heHl ohl SIRSAT hiloT | 2

@uE
(g3 weA) (6%x3=15)

“Oefir YT SIEAT TehTcHeh I SI9EAT § 3ich SAC 3 |7 39 I hl I
éli\an 3
e fatg Sy it frdl o fowanett =1 avia Sifs | 3x1=3
A ® T o # Uit gai shi qiHeRt w1 faveivor Hiv | 3

(a) TS Agiaq o fafye agemi, &l a1 wiviell | Heg -7 Tig|
q g AT h1 WIE hd Toh{Ha foham ? IqTeton |fgd ¥Use hilvie | 3

HAYAT

(b)  “HgTe it o fomml 3R TaUS H SFIYRON % IR H AFAGU hl !
g off |7 Iergn Tfgd 39 wUd hl e hifv | 3

“Tg sTawes & TR S9 H W@ F91 9§99 Seqe IR WA @{ig Hoh, TohI
3Tkl Teh SEaR Siiad o ToTU ATISIhdl Bl Tehdl & |7 3IeTE0 Higd ho <hl

gfse Hifs | 3
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22,

23.

24.

25.

26.

27.

28.

29.

SECTION B
(Very Short Answer Type Questions) (4x2=8)
(a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2
OR

(b)  Examine the role of the Supreme Court in the Federal System of
India in two points. 2x1=2

“India has great potential of wind power generation.” Explain the
statement in context of wind energy. 2

“Until the nineteenth century, poverty and hunger were common in

Europe.” Analyse the statement. 2

Explain the steps taken by Indian government for globalisation in 1991. 2
SECTION C

(Short Answer Type Questions) (6x3=15)

“Federal form of government is in direct contrast to the Unitary form of

government.” Explain the statement. 3
Describe any three features of intensive subsistence farming. 3x1=3
Analyse the role of political parties in making laws in India. 3

(a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the
National Movement ? Explain with examples. 3

OR
(b)  “Workers had their own understanding of Mahatma Gandhi and

the notion of ‘Swaraj’.” Explain the statement with examples. 3

“Money in your pocket cannot buy all the goods and services that you
may need to live well.” Support the statement with example. 3

32/4/3-14 Page 17 of 27 P.T.O.




30.

31.

32.

33.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

32/4/3-14

Qs v

(el 3w we ) (4x5=20)

“ohretet Tsg w1 TE W IR ALY of foh 98 JUW o AN ol R
& ¥ Gk ST |7 HIEE hifd & I9E & Ged § hed hl gfe
HIT |

Jroqa
“UermEfies &9 | A9 T shifdehrd fagidt st THEY fRar ot |7 e

1 ST hIFTT |

“rEmfed &3 H YiHenl ol TV IR HERAT hl ITEwIhdl & |

3CTEUN Tfed 39 hod hl W hifoly |

HAYAT
“ftosht azrep <Y Tifafafert =1 e oy s1fia e gl @ |7 Sargn |fgd
TG Y hl Y0 hIfVT |

“safer <h TRET 3T TS o HTHA | dAlhdisieh oIl foret Wt 3/
A YUt & T 3T 2 | 328 afgd 39 I hl ¥R shifau |

AT

“Arhdd I Th @I 7 foh 3Tkl SE-q@ 3R qhen i @en gl
Bl 17 3erewn |fgd wea 6 e hifse |

<1 o 3Tk foreprd ¥ fafamior 3 <t yfiert 1 aofq SHifT |

AT
ed I % Ifaiie YU 1 MEhd s % fau Ia 1y feel ate
heHl T I il |
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/3-14

SECTION D

(Long Answer Type Questions) (4x5=20)

“The mission and the destiny of the French nation was to liberate
the peoples of Europe.” Support the statement in context of impact

of French revolution.
OR

“In the administrative field Napoleon had incorporated

revolutionary principles.” Explain the statement.

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples.
OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples.

“Democracy stands ahead of any other form of government in
promoting dignity and freedom of the individual.” Explain the

statement with examples.
OR

“A distinctive feature of democracy is that its inspection and
examination never gets over.” Explain the statement with

examples.
Describe the role of manufacturing industries in the economic
development of a country.

OR

Describe any five steps taken to control industrial pollution of

fresh water.
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Qg T
(RE-3TTHTRA /|- I9T) (3x4=12)

34. Teu U Eiq 1 ufeu IR 3ues 9 feu U g9t & 3w S -
TEHT |iufaat | /T

Sepl o TATET UTHIUT & H & KT Bl Ush 37 Hid Tgehil giHfadl 8 |
TgHRl Affd & T U TEIEAT H FB A T TN 6 T THT A B |
3 TR h HEehrl diufqal @va 7, J° — fopaml, il wa 3t gl
SCATIG <hl TR THIGAT | P TRl THI FMYL o ToIGi Teh T § A
HA B | $Eh 2300 TRUM e B | U8 MUY GEEN @ ST TS Rl
g | 39 SMT ¢S Sl RUMYR AFd U, 39 TRl GH{d 4 5o § T8 RO ITe
fRam 8 | 39 ISl 1 SEIHTA TGEAT I Tl o o AT TRAT ST@T 8 | I8 RO
M o WG ol o1 GHU QR & [ohAT ST Gehell @ |

HYh DR AU Y ITHT G, @l qAT HY HAUR H, Tl
qehed, T S IR 1= fafia YR o @t o folu =01 gaan ot 2 |

(34.1) ‘Tgprt GiHfd’ Swor = forg @iq 1 378 7§ 2 1
(34.2) TTior faen@ § gl Gufaa o I 6l =aren it | 1
(34.3) TII-HETIAT THgI <l ISl o Fhegl ol @Il I 3@ T | 2x1=2

35. fou ww &l =i ufey 31K 37eh A= QT T g1 o IR AT

1857 % fagg & o1g 9 s Taaar o Ufd & 98 T | g SUSAT A
T I9 1 4g 9 B hI T I | SA-SAT WIHE AHER-TH TCAG d qHH
H g B MY, -l Aufafie R U % e % ywe W 98E oF
B TR | SN YH AT ok a5 W 1878 H THGYOK IH UF AT L T
T | $9Y R I WINTE Y9 H YT T 3TN AUTGEhT hl HEX i I AT
T e T | A9 ¥ WHR A ol I | B9 ard WiNTs STEeR Wt
TR W@ I[E H G | 3R Topelt T 1 a1ft R TG ST o af 3TEER ol
T8 =dTeHT &l STl off, S SR =dTeHT hl STEHT g3 1 TSN ol Fed fohal
ST FehdT o1 3R BUTS h! T BH ot 1 Ghat o |

(35.1) ‘SHTIeR | Ve’ fopd fom o ammafia o 2 1
(35.2) 1857 o fagig o e & <hl Tad=dl & Ufd TS ol W&IAT = ded
T ? T9s¢ HIfT | 1

(35.3) ‘TR I8 UFe’ AL B oh fohral Gl TWTET shl SATEAT ST | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)
34. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(34.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1

(34.2) Explain the contribution of Cooperative Societies in rural
development. 1

(34.3) Mention any two sources of capital for Self-Help Groups. 2x1=2

35. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(35.1) On which rule was the ‘Vernacular Press Act’ based ? 1
(35.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(35.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2
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V)

36. feU 7T &q o 9fgy 3R 3o Al U MY JeAT o I T

Fareal FT T ;. qagA fhdl Wt WE o o™ H HEgwyul fient fvmd

3 | W HETeEl T foeehg ST 3T SATT-IWANT o BT g HHTSTh-T1h
3R qTaiE TSN UgT BT Tehdl & | 39 TUEIAl § S99 o [olq Ty Tl
T EHTGA] T T SAGRID 2 | YA W B HIGH! 1 FE0 §gd | AdH]
3R Tordehl o foQ forar =61 fawr @1 8 | 3qretone, st 3 JaneHt o e
R 39T a1 31 wegl H Ak hl 7 — “BHR UE g Ak hl TRl Ifd
%qud S 7, ww%&ﬁ%wﬁé‘g’fﬁﬁmﬁ |319ﬁ?rsnﬁtrr&rﬁz
T % U 984 &, dfehd 9 9 o g 781 |7 Ik FgER fava 'R W
Waw%mkmmﬂlaﬁiwﬁwﬁﬁamaﬂgﬁmﬁ%ﬂﬁ@ﬁsﬁwm

gt ER 8 | 3 3Tcfeh Icuied o faeg o 3R 36k TOH W 3 &8

TSR gRT 3cUTE o JER o |

(36.1) ‘GETEE MA@l 9T i | 1
(36.2) THTEAT o TILIUT sh! TTETIHAT i I HIfT | 1
(363)Trr%‘|%ﬁﬁaéﬁwﬁ T qlaawlmﬁwﬁ%%ﬁa@

37. (a)

(b)

32/4/3-14

$S 8, TIichd TohEl oh TATCTd hl TIME b 1T T ? Tohral G1 SHIRUI I
fereeryor S | 2x1=2

WUE o
(ATt SivTe-aneTia ag) (2+3=5)

qRA o TCU T Yo {@I-AERT (98 27 W), § @ &AM 6l ‘A’ 3R
B % ®9 ¥ JAfrd frn mn 2 | F=fdfga S h wgEar @ 3=

qEaT-U 37X 3 T3 M Ik g Gl 78 W@rsn w® fafgu
A. T8 TIE & TSt T i H @dl v 9 fRaE 6 fow

eI fomam o | 1
B. 98 ¥JM J@l MY 7 THh hid qIeT T | 1
WA & 3H qoHide W@qeee 4, eafafad § 8 el @7 =t
ST Toml | quIigy 31 3eh 1 AR - 3x1=3

(1)  TEeA —dd &F

(i) A — JHE HIIAl @H

(iii) T — TRATY] ST I

(iv) TR — J@ |9g qod
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36. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(36.1) Define the term ‘Resource Planning’. 1
(36.2) Explain the need for conservation of resources. 1

(36.3) Why did Gandhiji say — “There is enough for everybody’s need and

not for any body’s greed ?” Analyse any two reasons. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where Gandhiji started Satyagraha for indigo
peasants. 1

B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : Ix1=3

(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(111) Narora — Atomic Power Plant

(iv)  Tuticorin — Major Sea Port
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Fig: [REfciiaa 3o7 @ac gheartaa qhgmaar & o7 397 §&q7 37 & € T
&/

fa8T gier g51 & 37 5T | 5x1=5
(37.1) 39 TIF k1 919 TaRgu SgT st 3 Fiar b @dl == a1 fopemi &
e ‘gz’ fomam o |

(37.2) 3 TIH o1 A ARG gl TSt 5 T9eh S drer o1 |
(37.3) TEGHieA a1 & Topm U= 0 fa B 2

(37.4) 39 USY 1 W fARau T8 o=’ TE@ ST Sl @H f2a & |
(37.5) 38 USA 1 TW TG &l T AR ol T €T 7 |
(37.6) TCToRITA TYGH IoH Tohd T H T9q g 2
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?

32/4/3-14 Page 25 of 27







gy . 37 % oo For question no. 37

TR T ATk TET-ATH
Political Outline Map of India
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